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Appendix B

Testing results of dipping interface

Estimated depth test and estimated velocities of non-separated networks for t,ys

toius Inputs
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Figure B1 Predicted depth of 2.5 degree of dipping angle for tminus-tpius Inputs



aijdip=85deg a i) error

0
05— 2 mean = -1.8%
z - H“M & std = 1.0%
= - = 0,
£ g b BN : q
2 -30 target E 5 [a] 5 o
g0l =5 241014 & o 0 © o o
O
-50 -4 -
20 40 60 80 100 120 20 40 60 80 100 120
b i) dip = 8.5 deg b i) error
0
10k 2 mean =-2.0%
. hﬁ‘% i std = 1.3%
E 20 S
z ] i ¥
§ -0 ’WI E : ko *
. 4— 24-3-14 ¥ * |
40 & e
*
-50 -4 -
20 40 60 80 100 120 20 40 60 &80 100 120
cijdip=28.5deg c ii) error
0
2
E g oLt * f o+ + + + ++ FT
£
£ 5
2 5.2 mean = 0.6%
std = 0.2%
-50 -4
20 40 80 80 100 120 20 40 60 80 100 120
distance (m) distance (m)
dijdip=8.5deg dii) error
0 <+ =
2
E (}‘] = e <1
- 30 I a4
T -2 mean =-0.3%
std=2.0%
-50 -4
20 40 60 80 100 120 20 40 60 80 100 120
e)dip=8.5deg & i) error
0
2
=104 A pat A B
= T = A A A A
E 20 ‘q‘%m £ OA s
£ . £
g0 target oy 2 mean = 0.8%
-40 Lo 24-10-10-14 std = 0.8%
-50 -4
40 60 80 100 120 20 40 60 80 100 120
fi)dip=8.5deg fii) error
0
2
LY S
— - = .
E 20 i N Bah B o oo BE
= -3’"'}—1,._ 4 = B b b
B30 target =
h=] = 24-5-10-14 - -2 mean = 0.2%
-40 std = 0.5%
-50 -4
20 40 80 80 100 120 20 40 60 80 100 120
distance (m) distance (m)

Figure B2 Predicted depth of 8.5 degree of dipping angle for tminus-tpius Inputs



aijdip=145deg a i) error

° target ! = e
= Mo o 2410-14 ‘ _ Op——O—— 2
£ .20 " TS £ © ©
£ Biss L0 el
B -30 T, £ -2 mean =-0.2%
i E 5 std = 0.6%
40 =N A
=30
20 40 B0 B0 100 120 140 20 40 60 80 100 120 140
b i) dip = 14.5 deg b i) error
0 1
arget -
7 o
E 20 \\ 2 4 * . ¥
£ s 5 *
g s 5-2 mean =-0.9% +
40 i, 5 std = 0.8% -
-50
20 40 60 80 100 120 140 20 40 60 80 100 120 140
ci)dip=14.5 deg c ii) error
0 1
target
105 l i— 24-2-14 ‘ 0L
E o] T g 4 T
= i ST 5
B30 e E-2 mean =-0.5%
a ¥ std = 0.2%
-40 “\"\-a-\ A
-50
20 40 60 B0 100 120 140 20 40 B0 B8O 100 120 140
distance (m) distance (m)
dijdip=145deg dii) error
0
target !
_ 10 *‘-ﬂ._y - 24-10-5-14 0 3
E .20 & B i G mean = -2.1%
= e ™™ =1 4 std=1.0%
& 30 'J,,q* =3 4 4 q
3 == g-2 ) 4
-40 Ty 3 o A4 "
=30 q
20 40 60 80 100 120 140 20 40 60 80 100 120 140
ei)dip=14.5deg & i) error
¢ larget' 1 A =
-0 o 24-10-10-14 his = — A A a & S &
E By E‘ =
:—_c: -20 'rlh__ﬂ"__ E -1
‘E -30 \’_\ E— 2 mean = 0.2%
4 std=0.4%
-40 —_
~h -3
-50
20 40 60 80 100 120 140 20 40 60 80 100 120 140
fi)dip=14.5deg fii) error
0 - .
— target 1 i [ b
=10 b - 24-5-10-14 Of—b— = L N =
E P E ' &
i P, B
&30 TR I3 -2 mean =-0.1%
R ‘H‘*--}.w\* = 4 std=0.3%
-50
20 40 60 B0 100 120 140 20 40 B0 B8O 100 120 140
distance (m) distance (m)

Figure B3 Predicted depth of 14.5 degree of dipping angle for tminus-tplus Inputs
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Figure B4 Predicted V; of Testing data 1 normalized by testing data sets for tminus-tplus

velocity networks
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Figure B5 Predicted V; of Testing data 1 normalized by testing data sets for tminus-tplus

velocity networks
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Figure B6 Predicted V, of Testing data 1 normalized by training data sets for tminys-
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Figure B7 Predicted V, of Testing data 1 normalized by training data sets for tminys-

tpius velocity networks
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Figure B8 Predicted V, of Testing data 2 normalized by testing data sets for tminus-tplus

velocity networks
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Figure B9 Predicted V, of Testing data 2 normalized by testing data sets for tminus-tplus

velocity networks
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Figure B10 Predicted V, of Testing data 2 normalized by training data sets for tminus-

tpius velocity networks
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Figure B11 Predicted V; of Testing data 2 normalized by training data sets for tyinus-
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Estimated depth test and estimated velocities of non-separated networks for travel

time inputs
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Figure B12 Predicted depth of 2.5 degree of dipping angle for travel time inputs
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Figure B13 Predicted depth of 8.5 degree of dipping angle for travel time inputs
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Figure B14 Predicted depth of 14.5 degree of dipping angle for travel time inputs
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Figure B15 Predicted V, of Testing data 1 normalized by testing data sets for travel

time velocity networks
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Figure B16 Predicted V, of Testing data 1 normalized by testing data sets for travel

time velocity networks
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Figure B17 Predicted V, of Testing data 1 normalized by training data sets for travel
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Figure B18 Predicted V; of Testing data 1 normalized by training data sets for travel
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Figure B19 Predicted V, of Testing data 2 normalized by testing data sets for travel

time velocity networks
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Figure B20 Predicted V; of Testing data 2 normalized by testing data sets for travel

time velocity networks
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Figure B21 Predicted V, of Testing data 2 normalized by training data sets for travel

time velocity networks
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Figure B22 Predicted V; of Testing data 2 normalized by training data sets for travel
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Figure B23 Predicted depth of 2.5 degree of dipping angle of trained depth networks
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Figure B24 Predicted depth of 8.5 degree of dipping angle of trained depth networks
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Figure B25 Predicted depth of 14.5 degree of dipping angle of trained depth networks

for tminus-tplus INPULS
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Figure B26 Predicted depth of 2.5 degree of dipping angle of trained depth networks

for travel time inputs
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Figure B27 Predicted depth of 8.5 degree of dipping angle of trained depth networks
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Estimated velocity test of velocity networks for travel time inputs
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Figure B38 Predicted V, of Testing data 1 normalized by testing data sets for
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Figure B40 Predicted V; of Testing data 1 normalized by training data sets for
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Figure B42 Predicted V, of Testing data 2 normalized by testing data sets for
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